



041 486 3222

041 486 3555

Wilhelm@lrsa.co.za

Liquor Runner Port Elizabeth

Http://www.lrsa.co.za

GRV for Signall Hill - LRSA NR: 7241 (GRV)

Receiver:	Xolela	Receive Date:	2025-01-06
Checker:	Xolela	WarehouseRecv:	LR PE
Warehouse	SIGNALL HILL	Sender Ref 1:	SO151600
Sender Ref 1:	SO151600	Sender Ref 2:	55180704

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
FG SZ-001	KIX ROSÉ RASPBERRY PEACH SPRITZER - 24 X 3	DA372		840	20160
FG BR-528	BAVARIA APPLE 24 X 340ML NRB MALT	415BFV22		70	1680
FG BR-238	DEVILS PEAK LAGER 24 X 330ML NRB	6D2C11		168	4032
FG BR-422	STRIPED HORSE MILK STOUT 24 X 330ML NRBS	9CE98		84	2016
FG SZ-013	KIX ROSÉ 24 X 440ML CAN	30185		270	6480
FG BR-524	STRIPED HORSE MILK STOUT 24 X 500ML CAN	56B810		77	1848
FG BR-420	STRIPED HORSE MILK STOUT - 12 X 600ML NRBS	7E4E11		400	4800
FG BR-375	STRIPED HORSE LAGER 12 X 600ML NRB	78239		160	1920
FG BR-524	STRIPED HORSE MILK STOUT 24 X 500ML CAN	AD629		13	312
RT PA-002	CHEP PALLET			25	300
				2,107.00	43,548.00
			Total QTY Received	2,107.00	43,548.00

Checked By:

Transport Company:

Receiver:

JBK 274 FS

Checker:

TUMELO

Driver Signature:

Deal Party
Port Elizabeth
6000

Deal Party
Port Elizabeth
6000



041 486 3222

041 486 3555

Wilhelm@lrsa.co.za

Liquor Runner Port Elizabeth

Http://www.lrsa.co.za

GRV for Signall Hill - LRSA NR: 7241 (GRV)

Receiver: Xolela

Checker: Xolela

Receive Date: 2025-01-06

Warehouse

WarehouseRecv:

Sender Ref 1:

Sender Ref 2:

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
FG SZ-001	KIX ROSÉ RASPBERRY PEACH SPRITZER - 24 X 3	DA372		840 ✓	20160
FG BR-528	BAVARIA APPLE 24 X 340ML NRB MALT	415BFV22		70 ✓	1680
FG BR-238	DEVILS PEAK LAGER 24 X 330ML NRB	6D2C11		168 ✓	4032
FG BR-422	STRIPED HORSE MILK STOUT 24 X 330ML NRBS	9CE98		84 ✓	2016
FG SZ-013	KIX ROSÉ 24 X 440ML CAN	30185		270 ✓	6480
FG BR-524	STRIPED HORSE MILK STOUT 24 X 500ML CAN	56B810		77 ✓	1848
FG BR-420	STRIPED HORSE MILK STOUT - 12 X 600ML NRBS	7E4E11		400 ✓	4800
FG BR-375	STRIPED HORSE LAGER 12 X 600ML NRB	78239		160 ✓	1920
FG BR-524	STRIPED HORSE MILK STOUT 24 X 500ML CAN	AD629		13 ✓	312
				2,082.00	43,248.00
			Total QTY Received	2,082.00	43,248.00

JBK274/S

Checked By: XOLELA

Receiver: TUNELO
Checker: MACEY

Transport Company: LR OWN

Driver Signature: MACEY

Signal Hill Products (PTY) LTD

Shipment Confirmation

SHIP COMPANY DETAILS:

Company Name: Epping
Address: 166 Gunners Circle
 Epping 1
 Cape Town
 WC
 7460
Phone: +27 (0) 21 203 2490
Email: debtors@signalhillproducts.com

SHIP TO DETAILS:

Name: LR Port Elizabeth
Delivery Address: 27 BMI Industrial Park
 CNR Burman RD & Stephenson Str
 Port Elizabeth
 SOUTH AFRICA
Shipping Contact: 041 486 3555

SHIPMENT DETAILS:

Shipment Number: SS180704
Sales Order Nbr: SO151600
Processed Date: 02/01/2025
Warehouse: ADFG00
Customer ID:
Customer Name:
Shipment Weight: 25,348.000000
Ship Via: Liquor Runners SA

SHIPMENT NOTES:

NO.	ITEM ID	ITEM	UOM	QTY	LOT / SERIAL NBR	TOTAL WEIGHT
1	FG SZ-001	KIX Rosé Raspberry Peach Spritzer - 24 x 330ml NRBs (5% ALC/VOL)	CASE	840.0000 ✓	DA372 ✓	11,340.0000
2	FG SZ-013	KIX Rosé - 24 x 440ml Can (5.0% ALC/VOL)	CASE	270.0000 ✓	30185 ✓	2,997.0000
3	FG BR-375	Striped Horse Lager - 12 x 600ml NRBs (5% ALC/VOL)	CASE	160.0000 ✓	78239 ✓	1,904.0000
4	FG BR-420	Striped Horse Milk Stout - 12 x 600ml NRBs (6.0 % ALC/VOL)	CASE	400.0000 ✓	7E4E11 ✓	4,760.0000
5	FG BR-524	Striped Horse Milk Stout - 24 x 500ml Can (6.0% ALC/VOL)	CASE	42.0000 ✓	56B810 ✓	0.0000
6	FG BR-524	Striped Horse Milk Stout - 24 x 500ml Can (6.0% ALC/VOL)	CASE	48.0000 ✓	AD629 ✓	0.0000
7	FG BR-422	Striped Horse Milk Stout - 24 x 330ml NRBs (6.0 % ALC/VOL)	CASE	84.0000 ✓	9CE98 ✓	1,134.0000
8	FG BR-238	Devil's Peak Lager - 24 x 330ml NRBs (4% ALC/VOL)	CASE	168.0000 ✓	28B612 ✓	2,268.0000
9	FG BR-528	Bavaria Apple - 24 x 340ml NRB (MALT)	CASE	70.0000 ✓	415BFV22 ✓	945.0000
10	RT PA-002	Chep Pallet - Deposit	UNIT	25.0000		0.0000

Driver: TUMELO
Driver Signature: [Signature]
Truck Reg: JBK 274 FS

Cust Received By: [Signature]
Cust Signature: [Signature]

DPBC Packed By:
DPBC Checked By:
Date: 06/01/25

Total Qty:	2,107.0000
-------------------	------------



SIGNAL HILL PRODUCTS

www.signalhillproducts.com

Transfer Receipt

Receipt Nbr:

PR061307

Date:

06/01/2025

Vendor ID:

Epping
166 Gunners Circle
Epping 1
Cape Town, WC, 7460
Phone: +27 (0) 21 203 2490
Web: <http://www.signalhillproducts.com>

FROM:

No	ITEM	PO ORDER	UOM	QTY	CURRENCY
1	FG SZ-001: KIX Rosé Raspberry Peach Spritzer - 24 x 330ml NRBs (5% ALC/VOL)		CASE	840.0000	ZAR
2	FG SZ-013: KIX Rosé - 24 x 440ml Can (5.0% ALC/VOL)		CASE	270.0000	ZAR
3	FG BR-375: Striped Horse Lager - 12 x 600ml NRBs (5% ALC/VOL)		CASE	160.0000	ZAR
4	FG BR-420: Striped Horse Milk Stout - 12 x 600ml NRBs (6.0 % ALC/VOL)		CASE	400.0000	ZAR
5	FG BR-524: Striped Horse Milk Stout - 24 x 500ml Can (6.0% ALC/VOL)		CASE	90.0000	ZAR
6	FG BR-422: Striped Horse Milk Stout - 24 x 330ml NRBs (6.0 % ALC/VOL)		CASE	84.0000	ZAR
7	FG BR-238: Devil's Peak Lager - 24 x 330ml NRBs (4% ALC/VOL)		CASE	168.0000	ZAR
8	FG BR-528: Bavaria Apple - 24 x 340ml NRB (MALT)		CASE	70.0000	ZAR
9	RT PA-002: Chep Pallet - Deposit		UNIT	25.0000	ZAR

Total Qty

2,107.0000